OCR Functional Skills Mathematics - Sample Assessment Materials September 2007
Commentary on the performance of Candidate Z , Level 2, Functional Mathematics.

Evidence Criteria Mark Comment
Identify with the context.
Clearly distinguish ; : “
RC | between irrelevant and 5 Cletar c”orrect conversion as evidenced by answer of “173
relevant information and metres
data.
Decide on the method/ By line drawn on map “attempt to measure the distance on

operation and tools map” — implied evidence of actual measurement itself, or

including ICT where 1
RT approprigate to use in a attempt to use scale.
situation
No attempt to use scale, answer shown on map is not within
the allowed range. [0]
Apply appropriate
mathematical procedures Implied correct use of word formula in that square root was
AT | @nd strategies to 3 found successfully. 2]

examine patterns and

relationships. . . .
Correct numerical value implies correct use of constant but

missing units. [1]

Interpret and
communicate solutions to
IF | practical problems in 2
familiar and unfamiliar
contexts

Response was consistent with the candidate’s calculation and
implied distance (50 km) marked on the map.

Draw conclusions and
provide mathematical

IT | justifications, and find 1 No obvious arithmetic errors so can imply some checking.
and check results and
conclusions
Total 9

In preparing the mark scheme we have found evidence within the structure of the expected
answer to say that the aspects have been met. The marks have been allocated to these
aspects.

It may be that the aspects will be met at other points in a different solution. If this is the
case OCR will take steps to allocate these marks where evidence exists.
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’ SOME HANDY COMVERSIONS

A kilogram is a bit more than 2 pounds
A pound is approximately 450 grams

Aninch is about 2.5 cm
A foot is about 30 cm

A litre |s less than 2 pints.
A gallon is 8 pints.
A gallon is about 4.5 litres,

A metre is a bit more than a yard (which is 3 foot).

& miles is about 8km  _ {75 Mrekres

BN S

| P‘WJfW_ ) S‘Cﬂa}‘

How TALL, HOW FAR AWAYT
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(2)  Muttiply this anawarlb:.r 35 03
(3) Nowadds.
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z'sThis tells you how far away a tall building can be seen.

e i
(1) Fist T the square toot of Siebukling's helght In mmm./ 5

19 Seel [oll,

The final answer is how far away the building can be seen

For example, a 36 m tall building can be seen from a distance of

: (6x35)+5=26km
Jlg (note: the square root of 36 is 6)

Use the map and the other information to investigate Amy’s claim that she can

:?:D : cp see Blackpool Tower from the beach at Meocls.
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